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> #Hrudai Battini HW15 RUID: 185007576

read "/Users/hb334/Documents/M15. txt";

#2

dsolve ({diff (x(t),t) = (1-x(t))*(2-x(t))*(3-x(t)), x(0)=0.5},x(t)
); #I am unable to return a function using dsolve by #using my
RUID.

plot( -3*exp(t - 1n(-5 + 9*exp(2*t))/2) + 2, t=0..5);

print (Disl) ;

L := Disl(-3*exp(t - 1ln(-5 + 9*exp(2*t))/2) + 2, t,0.5,0.1,1):
plot (L) ;

L2:= Disl(-3*exp(t - 1In(-5 + 9*exp(2*t))/2) + 2, t,0.5,0.01,1):
plot(L2) ;

in(-5+9&)

t—
2

x(1)=-3e +2
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0.5

proc(F, y,y0, h, 4)
local L, x, i;
L:= Orb(x+ h*subs(y=x, F), x,0,0, trunc(4/h));
L:= [seq([i*h,L[i]],i=1.nops(L))]

end proc
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> #2? Repeated 2

X := ToSys(4,x, (x[1]+2*x[2]+3*x[3]+11*x[4])/(x[1]1+x[3]),[1,5,5,2]
#k=4, f=x[1]+2*x[2]+3*x[3]+11*x[4])/(x[1]+x[3] and INI = [1,5,5,

x1+2x2+3x3+11x4

X = . +x3 ) Xps Xy X |, [1,5,5,2] €))

#print (Orbk) ;

Orbk(2,z, (1-z[1])*(1-z[2]),[2.5,2.7],1000,1005) ;
#print (ToSys) ;

F:=ToSys(2,z, (1-z[1])*(1-z[2]),[2.5,2.7]);
#print (SFP2[1]) ;

SFP2(F[1],z[1],z[2]);

[0.3819660113, 0.3819660113, 0.3819660112, 0.3819660113, 03819660113, 0.3819660112 ]
Fi=[(1=z2) (1=2),7][2527]
[[0.3819660113, 0.3819660113 1] 2)

> #4
print (HW3) ;
print (HW2) ;
proc(u, v, w)

[u™2 +v*u+ 1/4*v 2, v*¥u +2*u*w+ 1/2%v2 +v¥*w, 1/4*v"2 + v¥w + w2]

end proc

proc(u, v) A3
expand([u™2 +v*u+ 1/4*v" 2, v¥u+2*u* (1 —u —v) +1/2*%v2+v
(1= u—v)])

end proc







